BT TRIA O - HEHHEE X T ﬂﬁﬁkjeﬁosﬁ KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,909 86,633 41,307 45,326
RIRET1T 6 15 9 6
RIRET2T 28 56 27 29
AIEET3T 179 589 290 299
RIRET4T 411 1,002 499 503
B 624 1,662 825 837
REH 2,667 6,174 2,876 3,298
L&A 4,210 9,422 4,427 4,995
BE 2,574 5,975 2,910 3,065
B AN 1,264 2,855 1,329 1,526
BERT 1,310 1,974 935 1,039
BER2T 737 1,387 674 713
BHERST 382 850 408 442
g 2,429 4211 2,017 2,194
BARE 279 673 344 329
= 2,197 5,179 2,456 2,723
hERE 618 1,428 650 778
e 2,463 5,243 2,528 2,715
25 L ET 2,304 5,130 2444 2,686
B &AL BT 76 154 61 93
HEFILET1T 561 1,206 566 640
HEFILET2T 615 1,360 648 712
HEZFILAT3T 623 1,444 710 734
g 1,875 4,164 1,985 2,179
B & it B Fr ET 679 1,608 784 824
BHEREBET1T 602 1,239 590 649
BHERERET2T 766 1,749 841 908
BHERERETST 781 1,673 769 904
HERERET4T 474 974 468 506
HEHFMHETST 821 1,716 809 907
HEHFHET6T 882 1,963 951 1,012
HEFRET7T 881 1,911 930 981
HERERETST 70 222 105 117
5| 5277 11447 5,463 5,984
HEF R FET 1,865 3,942 1,922 2,020
S|EFET1T 573 1,545 772 773
S|EFET2T 766 1,798 852 946
S|EFET3 T 726 1,415 641 774
g 2,065 4,758 2,265 2,493
ERE1T 571 1,354 647 707
EIRET2T 390 1,048 525 523
EREIST 478 1,309 641 668
EIRETAT 694 1,510 676 834
EIZEIST 485 1,000 508 492
g 2,618 6,221 2,997 3,224
MEH 2,791 6,320 2,987 3,333
J\THET1T 33 35 13 22
J\THET2T 27 70 34 36
J\THEI3T 50 116 51 65
B 110 221 98 123
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